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QUESTION 1

Which objects can be tested with a State verification point?
A. A combo box and a list box

B. A label and a text box

C. Atable and a tree view

D. A checkbox and a toggle button

Correct Answer: D

QUESTION 2

What is an appropriate use of the command Test Object > Highlight when working with verification points?
A. It is used to highlight the test object at playback (to identify what is being tested).

B. It is used to create a new verification point in the current script

C. Itis used to highlight the test object (to verify it is found in the application)

D. It is used to identify all objects in an application which can be tested

Correct Answer: C

QUESTION 3

While recording a script, the recording monitor
A. appears at the conclusion of recording

B. is only displayed on the toolbar

C. does not appear

D. displays a message for each action

Correct Answer: D

QUESTION 4
Given the following settings:

Maximum acceptable recognition score 10000 Last chance recognition score 20000 Warn if accepted score is greater
than 10000 Maximum time to attempt to find Test Object 20
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How will RFT behave at runtime if the recognition score of a found object is 10000?

A. It will accept the found object after waiting for 20 seconds for an object with better recognition and write an
Ambiguous Recognition Warning to the log.

B. It will accept the found object after waiting for 20 seconds for an object with better recognition and write nothing to the
log.

C. It will accept the found object immediately and write an Ambiguous Recognition Warning to the log.
D. It will accept the found object immediately and write nothing to the log.
E. It will immediately throw an ObjectNotFoundException and write an Ambiguous Recognition Failure to the log.

F. It will throw an ObjectNotFoundException after waiting for 20 seconds for an object with better recognition and write
an Ambiguous Recognition Failure to the log.

Correct Answer: D

QUESTION 5

Which three methods write to the RFT log? (Choose three.)
A. logError()

B. logDefect()

C. loginfo()

D. logWarning()

E. logSuccess()

Correct Answer: ACD
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